
PROBLEMAS DE QUÍMICA

EQUILIBRIO QUÍMICO       

EXEMPLO 9: Escribe a expresión do produto de solubilidade, Ks, para os seguintes compostos: 
BaSO4, CaF2, Ag2CrO4, Fe(OH)3, PbCrO4.

BaSO4(s)  Ba2+
(aq) + SO4

2–
(aq) 

K s=[Ba(aq)
2+ ] ·[SO4 (aq)

2- ]

CaF2(s)  Ca2+
(aq) + 2 F–

(aq) 

K s=[Ca(aq)
2+ ] ·[F(aq)

- ]2

Ag2CrO4(s)  2 Ag+
(aq) + CrO4

2–
(aq) 

K s=[Ag(aq)
+ ]2 ·[CrO4 (aq)

2- ]

Fe(OH)3(s)  Fe3+
(aq) + 3 OH–

(aq) 

K s=[Fe(aq )
3+ ] ·[OH (aq)

- ]3

PbCrO4(s)  Pb2+
(aq) + CrO4

2–
(aq) 

K s=[Pb(aq)
2+ ] ·[CrO4 (aq )

2- ]
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